Mazz dirty colormap tile test - entire mesh, game tick resolution

1. Dirty tiles vs Game Time: Rolling Max, Median, Mean (R,G,B)

radi us =500; counts = Normal @Spar seArray [First /edata - Last /edata];
Li stPl ot [{MaxFilter [#, radius], MedianFilter [#, radius], MeanFilter [# radius]} &ecounts, PlotRange-Al I,
AxesOrigin- {0, -1}, Joi ned » True, MaxPl ot Poi nts » 1000, Pl ot Styl e » Darker @ {Red, G een, Bl ue}]
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2. Cumulative dirty tiles vs Game Time

cundata = Fol dLi st [{#2[[1]], #1[[2]] +#2[[2]1]1} & {O, 0O}, dataj;
linefit =Fit [cundata, {1, t}, t]
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Show[Li st Pl ot [cundat a, Pl ot Range -» Al |, Joi ned -» True, MaxPIl ot Poi nts - 10007,
Plot [linefit, {t, 0, First eLast edata}, PlotStyl e - Darker @Red]]
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2b. Lower bound for bandwidth savings (percent) over entire game assuming 13-20 visible tiles

100 (1 -Coefficient[linefit, t] /{13, 20})
{91. 2085, 94. 2856}



3. Dirty tile count distribution

bars =Join[{{0, First [Last [data]] -Length[data]}}, Sort eTally[Last /edata]];
Bar Chart [Last /@bars, ChartStyl e - "DarkRai nbow', ChartLabels »First /@bars, Scal i ngFunctions - "Log"]
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4. Distribution of k-spike runs (groups of consecutive ticks where # dirty tiles > k)

Tabl eFormePartition[#, 3] &eTabl e[
Label ed[Li st LogLogPl ot [Sort @Tal | y[Lengt h /@ Sel ect [Split @Thread[Last /edata > k], First]],
Joi ned » True, Pl ot Range -» Al'l, Pl otLabel - "k=" <>ToString[k],
AxesLabel -> {"", "frequency"}1, "run length"], {k, 1, 9}]
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